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QUESTION 1 
Which statement about Standalone Cisco UCS Server Deployments is valid? 
A. They require Cisco Fabric Interconnects to operate, which reduces the Operating Expenses (OpEx) 
associated with the deployment 
B. They do not require Cisco Fabric Interconnects to operate, which reduces the Operating Expenses 
(OpEx) associated with the deployment 
C. They do not require Cisco Fabric Interconnects to operate, which reduces the Capital Expenses 
(CapEx) associated with the deployment 
D. They require Cisco Fabric Interconnects to operate, which reduces the Capital Expenses (CapEx) 
associated with the deployment 
Correct Answer: C 
 
QUESTION 2 
Which Cisco UCS Server running HXDP supports the largest storage pool? 
A. UCS B200 
B. HX220 
C. HX 240 
D. UCS B480 
Correct Answer: C 
 
QUESTION 3 
Which version of HXDP was the first to support multiple VICs on a single server? 
A. HXDP 3.5.1 
B. HXDP 3.0 
C. HXDP 4.0 
D. HXDP 3.5 
Correct Answer: A 
 
QUESTION 4 
The process of optimizing information is tightly tied to the writing process as it is performed inline as 
the writing process is being performed The process of data optimization is performed with which two 
processes? (Choose two) 
A. The primary CVM compresses the data, writes it to its cache drive and mirrors it 
B. ACK is sent to the CVM that the write is about to be initiated 
C. On write, the local lOVisor sends the write to the primary CVM for that block 
D. On read/Write. the distributed VAAI sends the write to the primary CVM for that block 
E. The secondary CVM compresses the data, reads it from its cache drive and mirrors it 
Correct Answer: A,C 
 
QUESTION 5 
Cisco HyperFlex AII-NVMe nodes are expected to be supported beginning in which HXDP version'? 
A. HXDP 4.0.1 
B. HXDP 3.5.1 
C. HXDP 3 5.2 
D. HXDP 4.0 
Correct Answer: D 
 
QUESTION 6 
Which two components are automatically configured from the information provided to the HyperFlex installer? (Choose 
two ) 
A. the network 
B. operating system deployment preparation 
C. controller VM configuration 
D. application dependencies 
E. server firmware policy 
Correct Answer: AC 
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